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1. (12pts) To save for a new car, Alison deposits $400 every month into an account bearing
4.25% interest, compounded monthly.

a) How much does she have in the account in 5 years?

b) How much did she earn in interest over these 3 vears?
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2. (10pts) In order to buy a $4,000 computer in two years. Joe decides to save up money. If
he can deposit money into an account bearing 3%, compounded quarterly, how much should
he deposit into the accnunt every quarter?
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3. (12pts) The Patels would like to save $50,000 for a down payment on a house. If they
can set aside 3500 every month into an account bearing 4.75%, compounded monthly, how
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4. (16pts) At the time of little Ella’s birth, her parents had $5,000 in savings. They would
like to have $100,000 for Ella’s college by the time she is 18. They can get 5.5% interest in
an account compounded quarterly, and they invest the $5,000 in this account. How much
should they additionally deposit into this account every quarter in order to have the target
amount? Including the $5.000. what was the total amount of their deposits? Hint: treaf this
situation as two different accounts, whose goal is to have a lotal of §1 ﬂﬂ,ﬂﬂﬂ between them.
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5. (10pts) Little Jenna, who was in the same maternity ward as Ella, was born to poor
parents who were not able to save for her college. After high school, determined to go to
college, Jenna takes out a student loan for $85,000, with an interest rate of 5.5%, compounded
quarterly. She repays this loan over 18 years with equal quarterly payments. What is the
amount she pays- every qu.irter?
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